&

MBx40 - Tks M358 - 1ks P8 - Tks

M10x30 - 8ks
MI200 2 (Al I MI0Z/17 - 2 @ PRI4- Tks
M12x90 - 2ks () ' \ MI10 - 4ks , PP12 - 4ks {CI]

M12x19 - 4ks (C) .@ M12 - 2ks (A, 1)

DETAIL

M12x19 - 4ks

M12x90 - 2ks

| CITROEN C-ELYSEE, PEUGEOT 301 ﬁ
AlC 400 12 2 Kod: C0&45(A1C) 19, 1. 2013




